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Note: You have four choices for cach objective type question as A, B, C and D. The choice which
vou think is correct, fill that circle in front of that question number. Use marker or pen to fil|
the circles. Cutting or filling up two or more circles will result in zero mark in that question,
Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the
situation. Use of ink remover or white correcting fluid is not allowed.
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(D) ©) (A) QUESTIONS
. - 4t . - .5 »
A i & S .n,-@_‘/;w;rm;;,, 1
Robbins | Adam Smith Pigou Marshall (Who wrote the book named
: "Wealth of Nations":
/—’ wlic el o (’ L[ : I?"_t'ﬂvlﬂg)/;ﬂ/"nmﬁy’. 2
Zero Maximum Positve Minimum |When marginal utility is zero,
total utility is:
Y e Y S I T VA A RS NIk
Fall of Rise of [ Contraction of | Extension of: e bl
‘ .
Demand Demand Demand Demand  |Decrease in demand for a commodity
due to increase in its price is called:
__,U’,l,&'» . ._,Jb . 023 di—‘;of U’f":":’) ..ggf;nui"u Ji. 4
Quantity Supply Demand Stock LbJJ‘#g’.é:)}/Lﬁ
demanded A quanitity of a commodityhfféred
. for sale at a certain price during-a
) - _ _ a given period of time is called: |
rmbienli | e dend” %d”‘/‘ <deS g P Ttnslie bS] $
; ‘,‘- is negative is Zero Decreases [Wheri total product is maximum
IS maxmjtlm . then marginal production. |
Y, 5 el BN 7 PZTYS j
.J}W(-\{ J/L‘;’ﬂf’ r / A I—JIL“/J tfwulﬂdb/wﬂ/}(rfidjw&' 6
Marginal Variable Fixed costs | Total costs U'L %
costs costs The costs which a firm has to bear
in every condition in the short run
are called; ___—
L d
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LZ;‘—' A P o e e === - ey P = —1
_<be..—-’. L’J|>|-‘»1’,-.-n-’ Lr}'(:,{.’-?), L,,I:::,.f_'). &dl{dvdlwlwtb)’ulr/l—ﬁ 7
. J/ | i ad s ~3/le* A firm earns normal profit.
S [ When P<AC| When P>AC | When P=AC
When
TR>TC
" 5 a .t
ng =t 3 Sarrld gdn?lb&ﬂ,s ! 8
Negative Positive Derived Direct The demand for factors of
— . T — 3 d production is.
S| AU LTFA | GG Tepbdo e 23T 9
Personal daf Net Domestic | Net National C—dﬂw b
saving D;;::[r’?éﬁgl‘c income income |If Direct taxes are subtracted
income | from personal income, we get.
L/, &l =LA | Silae :.:-_L-L,l‘{f,;wjgﬁ_»,,{g,/"fu;? 10
=bl7l Rewards Productive =bl7l |Expenditures of repair of
Depreciation expenditures Unproductive|machines are called.
allowances expenditures
Dpertats | T | A ek | s e bl LB LI 1
Barter system| Medium Of mf:;:ler:gf Store of value|Exchange of goods with goods is
Exchange value ‘| called. .
SE7 5§ S8 | slailes c_..Jl.d”Jw.JLd,uJu’udwur 12
Near Money |  Token Paper Money | Standard .q_tl_el‘fc.lm:p
Moriey Metallic |The money whose face value is
: Money greater than its intrinsic value is
e called.
| & L e o 5 :u_:z_ml”!&/é AL 13
Five ~ Four hre Two  |Phases of a trade cycle are.
- [ . o* - -
L | L Es3K. LS Y BeE SIS 7ad6 14
Ohlin Hecksher Ricardo Marshall T‘he comparative advantage
Trade theory was presented by.
A s Fi Zpt ?;&Lufwﬂfé;,ﬁuj-’ 15
Keynes Robbins Marshall Adam Smith |Yho, presented the canons of
2 taxation?
eboles-
. B -8 A =T B -6 B -5 CcC -4 B. -3 c -2 C -
A -1S B -14 C -13 C -12 D -11| D .-16 c 9
A0
0 _J:’q;,{,,ily,c,/;‘U)/Z_.’/.:/.J'}’J’ ..Jr/'! (l)-u‘l;/"' 1223
‘ ¥y vy rv¥ey "™ o
i (2019-21 10 202224 o) ..-:.L_}l'ydm
s . -
60 7 (Jie) & 2:10 .5
6x2=12 -Jffwl'?/"é:'f‘d-c—dfc—dd:b; EER

Answer briefly any Six parts from the followings.

Jf//uuhbJ_ﬂ/"’J._.Lzbm/ouJ’,u)/v,,

Write down four merits of prof Alfered M:
KRS RIS -3

,*'c_. u)@.'
L. Clear and

Jal 4

concise

b

o

4,

Socia

| science

Better than previous definitions

(i)
arshall's definition of Economics.
#d/"b‘ -2 C b)!' '! =1 Hlj’

wy of individual and collective efforts

4
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Write down four main points of Prof Rnhhin'e definition of Economics.

~S s Vin -2 -U'JJ L’*’U;L-dt,, 1
Ut B U 4 -u’dr(‘ (ﬂ;lfla;tzp,c.u'ul/lful 3
1. Sources have alternative uses. - 2. Sources are limited,

3. Some of these desires are more important and some less important. 4. Human desires are infinite
IMustrate the concept of Economics as a normative scicnee. Y:_J/lfc.--—c’k”ﬁ/’uw‘/b‘ (i)

ll".f.’—bt* U"v-' (Z Ly AR I L-br/cub-ﬂ/d’b-f:r h-{,,,UbJJLH‘D’)/GU'*J’Hi

-_l:-;,:.:.c» ..'»'_Lﬂ,(q/I:Lbbtuh///:|'/(d’/’r//£J“'—bd”dbu‘?‘"b“!"/
Normative science refers to the knowledge in which circumstances and events arc examined from ,
particular angle and it is decided that they should be like this, for example, there should pe
prosperity instead of poverty, every person in the country should get bread, cloth and house, There
should be democracy instead of dictatorship.

What is meant by utility? | YL"/U,"”M (iv)
Sl dud A E Ut dLi u"éublf._a’I.J:rd;’gf.«'_./r'u’[g/')’du'tfél)/ W
_,/,eréfu'(“mwzu‘J g7

The quality, attribute or power of fulfilling human desire in an object is called utility. For example,
water quenches thirst, bread quenches hunger, light in bulb and writing quality in pen etc.
Illuﬂratc the concept of marginal utility. -J/..»?La: r"&:ubl(‘f

W e S e i S8 Lub'Ulm_rJ'l:c..L,/._:/dK'd]'Jc_(f( _,1;
PR A SR AT ARy,

f
d',vgfub . r,\; o
J,v" -3
The utility o‘mamcd by spending the last unit of an item or the change in the total unhty by spending

one more unit is called marginal utility. Each unit has its own separate function is also called
marginal utility.

Total utility of change
Goods change
State the law.of Equi-Marginal utility. : ' -de/"J("’;:bldyl/u}F (vi)

TSt pe Sl L;z,)wnw._w’f»wd ff_uubﬁé.égfd’wumL/;;,»L/ 2

-u"c’_ ub'd:l/u.v’bcl:‘fba)b
In order to get the maximum benefit, a user should spend his limited money on different items in
such a way that he gets the same end-benefit from each item is called equi-marginal utility.

el LS FL A ()
" Write d(m n three causes of negative slope of demand curve?
A1 -3 c,;’p(u{LL_La!u'd.cl -2 c_g&}_,&[&d/u:,uﬁd’uméj 1
1. Due to increase or decrease in the number of buyers.
2. Due to increase or decrease in income 3. Transfer effects

What is meant by complementary goods? ?&,/l’(‘_'wdff (viii)

-,/»f/,mlv-u'dlﬁfv'd"(u‘dbnfulbgffﬂ_igﬁm 05 JuIg R e

Items that are demanded together 1o fulfil a human desire are cnllud complementry Loodbv
example ball and bat etc.

Differenciate between supply and stock. -J/UL‘O/&;'»Z‘”’W)
{
Lf(-/r;fé. L L./J’//J Lfr“;...ozb/u?:/......_t'r.#’n{u’»'/wy} wy J
cpEdicte dn,erLLU,JKJ,/¢dy;JIyJ S 5 emtis” Zh

Supply: Supply refers to the part of the stock that the sellers offer to sell at a certain price- 2 3
Stock: The total quantity of an goods at a given time that the sellers have in the market i €

stock. . / ;

Marginal utility =

4
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(x2=12 2 S fe e A s e S S st BELOLA
pswer briefly any Six parts from the followings:- C—J %JJJZ{” U |
e gt 0

pcﬁne total production. '
. . -«E'..t'lgl.gcf;fﬁgfﬁh'{;dhé_nwba_u(fuf('(VJ:J"J‘J«;—?JJW' el
production that is supported by all the units of labour used is called total production.

pefine law of decreasing returns. . 0 I /JJ‘)“,JFD I (i)
| LB e ST GBI U S A L P Secp st P

~%-‘¢'.‘-’J’Lnkwuib“fuww_;!£2_£m%?‘3’}9_89&3/3:,«44'(""115-;"

if the units of the variable factors are increased with the specific factor of production in the process

! of prodUction, then the increase in total production is less than the units. As a result of which the

marginal product keeps falling, then this trend of falling marginal product is called the law of

diminishing returns. . -
pefine firm. e d/r/ (i)
;',-’:J:..:’.,E.’._IJ’L’C’K‘r‘/o_cc’.UJkJJLuKJdI/'Lr/.‘LJ/JJ/“GCLJJKJC’QG.:’.‘JK’J?-—@(/ e
: O el
A firm is an organizational unit that controls a business. The firm's duties range from founding a .
pusiness to making a profit. Example of firm is bata shoe company.

| > IS v

Define total cost. 7
Lt L £ AL Sl Sizse s S Joaf
, _ e = e + Doz ‘o
In a short period of time, total cost, are equal to the sum of fixed cost and varizble cost.
~ Fixed cost + Variable cost = Total cost g rw
What is meant by natural resources? ?.;_,y-gv’;éwdm (V)
-a/:.;:!,/)f:alf"?u'lé11'3‘u_2'dMJV:L}JJLC’Md/jufJ.:‘bf)ﬁc.J/’Ja/ 3;2;?',’30: T
All the commodities that are given as a gift by nature are called natural resources. For example
mountains, forests, river etc. 2 o o
Define Orginization. ' ‘ ; : : -u.‘f..yf’(f(:g’ (vi)
.:u:f’&j’lgfgjl;(ﬁgj_é2".(b’c_w'/uﬂu/i_(./nlo‘!‘g'j:)b{g}"{_«; U:Lb ufécf_cﬁg,ﬁ?l {7 4
e . gy el
The three factors of creation in order to produce things, the factors of creation that are required to
combine land, labor and capital are called organization or employer. .
What is meant by normal profit? ?.L:l/_lfc.db*dr‘v (vii)
_x(.}b/c__}.:ﬁLUJ&{O‘/{;/@/{}:&"')?}JZZ{_l'ndl?m‘/c.dt‘/dr‘” A
Normal profit is the profit that is enough to motivate a firm to stay in the industry.
Define short run. - = , -é{-.‘.’/JJJ{'/ (viii)
JU!"?U}._/‘JJ;I‘/’@K;G/KL}://J’G:,JC/J!J,»‘;!(&’W Lf.’(/d: Lf‘é- ELY Sl e J-JJJ/ o
e Guapme oMl SU WA SAR S

Short run refers to the time during which the firm cannot change its size, i.c. the size of the factory
and the number of machines installed cannot be changed during this period as if its production

Capacity is fixed. . .
Give two examples of perfect competition firm. _L[f‘ﬁu!&,,Jr/Jéu,Jf (ix)
Lo sbisT 22 =L LUFNSE 1 o

L. Homogeneity of product 2. Free Entry
Sx2=12" "t/.jgféﬁ’ﬂff-f—'z'é&(jfc-ddibu .
Answer briefl Si ts from the followings:-
y any Six parts g ) N

hat is meant by Modern theory of trade cycle? ) ?%J!/gc_sa)]{‘!éfgdj“;} @)
AN Ve S o7 b Ay e A e o s iz
Modern economists prof J.R.Hicks and Prof Samuelson explain the trade cycle with the help of the
"‘&@on between multiplier and acceleration.

—
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What is meant by favourable balance of trade? ?‘f-"/g""lt.’ul'!dlr :\)
L Fwefunibnie Sannt1§ pl el fme Salenibpdedintid Al g el
AL

If a country exports more valuable goods and imports less valuable goods throughout the

yeal' its
trade balance will be considered favourable or posit|ivc. ,
What is meant by public finance? : Nl Ve ey, g (iii)
SR Ut bre e bl PP e W LEUIE ey, ),

- N - £ = . % .
: U7 @i&r»lq. SN laa_dluu( da i Jrf
) z
Public finance is the branch of economics that deals with government revenue and expenditure, |,
examines the sources of government revenue and how it spends it.

Define disposable personal income. ‘ ‘u!d 8% Jd*f‘f’;ﬂ. e (iv)
deL &g luduxc"_z@d.@dkésf?@é & furfectnisng tronk 3418 e 2
| G S e

This refers to the portion of personal income that is left to a person after direct payment of taxes,
which he has the direction to use at will. ' '

What is meant by depreciation allowances? ' ' feoly g‘-*’*l!’j ’&”'j v
] . . . ) 4 - )
_q‘?gogv!]l&r}fglglﬂﬁy/&/{:oUlubb':hu:f' 2,

The cost of reparing machine tools and equipment is called depreciation allowance.

Describe methods of measuring National income. -ufd.é)ﬁd"g(;di"d} (vi)
' L 1T T Y7 I 60T
1. Method of income 2. Method of production 3. Method of expenditure

What is meant by convertible paper money? SespUe i b’_{%d&_ (vii)

-‘Lt‘L‘:’C)QﬁK{%J&&I?L'/(J.EJLJ:L(JJQ/JJLUI&:L)’)JJ&VJJJ?LJ:?J)dk'ﬁ:'l 2

Paper money that can be exchanged for the country's standard metal currency (gold, silver or forcign
exchange) is called convertible paper money.

What is meant by velocity of Money? ?.—‘-_,!/l.,_f;;jgf;/ (viii)
- s = - 0-..0 ..' - %
~‘4-(.«lﬂ’.‘((.f’/&]{-d)fbk)l(ll(;/»c_.m’%.pﬁjwfu&i 4
The’amount of money that is transferred from one hand to the other is called the circulation of
money. ' ‘

Write four characteristics of good money.

-u:"f.su,ugémf (ix)

S -4 ExstF 3 0w FYsa R
1. Uniformity 2, Stability of value 3. Could not copy 4. Sustainability

(r'».ﬁ) :
: -ga:xd’rlflﬁnlulﬁ:cg/,}@ U:J,wc);f" @

Explain the law of supply with the help of schedule and diagram,

-L‘f./‘::a?L:’JJLﬁbéd}"JﬁJ’d)‘Jbﬂbgié-wk}; m

Explain average revenue and marginal revenue curves under perfect competition:

et B Lo pt S b peis s, B

. . i et
Determine the price and output of the firm in long run under perfect competitio™

L2 NSl g S A

Define Money and write-down the kinds of Money,

5k . , o . ; \ . o, . . - -
W rite down advantages of international trade, _—:é/* UL&JE’U”@

+
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